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R e | BT R | B2 | e | e | B2 | BT e | B2 | TR | & | e
’ 100kN/ Mm% 2 % 1.00/0.00 ~ 0.61 109.02| 3m%E#BZB| - ~ - - -] 100kN/mM%#8% % 1.00( 12.64 ~ 15.56 109.02|3m%E#B2 % -~ - - -
ZFhst 1.00/ 0.61 ~ 8.39 100.00f Zhist 000 ~ 839 2.10 11.23 Fhst 1.00[ 500 ~ 12.64 100.00f Zh st | 500 ~ 1556| 2.10 11.23
9 100kN/ Mm% 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - —-|3mx#Z5 -~ - - -
ZFhst 1.00/0.00 ~ 7.05 89.44| Zhrls 1000 ~ 7.05 1.94 10.39 Fhst 1.00[ 500 ~ 10.00 89.44| ZhLls | 500 ~ 10.00( 1.94 10.39
3 100kN/mM%BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - ~-|3m&x#Z5 -~ - - -
ZFhst 1.00/0.00 ~ 7.43 94.84| ZhLls 1000 ~ 0.00| 1.67 8.94 Fhst 1.00[ 500 ~ 9.94 94.84| Zhkls | 500 ~ 9.94| 1.67 8.94
A 100kN/m%# 2 % 1.00/0.00 ~ 1.34 120.36| 3m%E#BZB| - ~ - - —| 100kN/mM%#8% % 1.00[ 10.91 ~ 16.04 120.36| 3m%E#B2 % -~ - - -
ZFhst 1.00[1.34 ~ 913 100.00f Zhist (000 ~ 9.13| 224 11.98 Fhst 1.00[ 500 ~ 10.91 100.00f Zh st | 500 ~ 16.04] 2.24 11.98
5 100kN/ Mm% 2 % 1.00/0.00 ~ 3.05 148.63|3m%i#8%5%(0.00 ~ 0.06| 3.03 16.24| 100kN/m%#8 2 % 1.00[ 10.53 ~ 27.51 148.63|3m%x B2 5| 25.00 ~ 27.51| 3.03 16.24
ZFhst 1.00/3.05 ~ 10.84 100.00| x5t [0.06 ~ 10.84| 3.00 16.05 ZFhst 1.00[ 500 ~ 10.53 100.00f =4t | 500 ~ 25.00| 3.00 16.05
6 100kN/ Mm% 2 % 1.00/0.00 ~ 3.62 158.57|3m%E#8%5%(0.00 ~ 0.35| 3.19 17.05| 100kN/m%#8 2 % 1.00( 10.54 ~ 38.83 158.57|3m%&i##E 25| 25.00 ~ 38.83| 3.19 17.05
ZFhst 1.00] 3.62 ~ 11.40 100.00f x5t [0.35 ~ 11.40[ 3.00 16.05 Fhst 1.00[ 500 ~ 10.54 100.00f Zh st | 500 ~ 25.00| 3.00 16.05
; 100kN/m%# 2 % 1.00/0.00 ~ 3.61 158.37|3m%#8%5%(0.00 ~ 1.30| 3.62 19.40| 100kN/m%#B 2 % 1.00( 10.54 ~ 44.83 158.37|3m% B2 5| 25.00 ~ 44.83| 3.62 19.40
ZFhst 1.00| 3.61 ~ 11.39 100.00f Zhist [1.30 ~ 11.39] 3.00 16.05 ZFhst 1.00[ 500 ~ 10.54 100.00f =4t | 500 ~ 25.00| 3.00 16.05
8 100kN/MZ#BZ % 1.00/0.00 ~ 3.61 158.40|3m%Ei#B% 5| 000 ~ 1.28| 3.61 19.32| 100kN/m%E#BZ % 1.00( 1055 ~ 47.98 158.40| 3m%i8% 5| 25.00 ~ 47.98| 3.61 19.32
Zh st 1.00/ 3.61 ~ 11.39 100.00| Zh st [1.28 ~ 11.39] 3.00 16.05 Thst 1.00[ 500 ~ 10.55 100.00f Zh st | 500 ~ 2500/ 3.00 16.05
9 100kN/MZ#BZ % 1.00/0.00 ~ 3.29 152.69|3m%i#B%%(0.00 ~ 1.09| 3.50 18.71| 100kN/m%E# 2% 1.00( 10.75 ~ 48.30 152.69|3m%#8% 5| 30.00 ~ 48.30| 3.50 18.71
Zh st 1.00/3.29 ~ 11.07 100.00f Zh st [1.09 ~ 11.07[ 3.00 16.05 Thst 1.00[ 500 ~ 10.75 100.00f #h st | 500 ~ 30.00] 3.00 16.05
10 100kN/mMZ#B% % 1.00[0.00 ~ 222 134.46|3m%E#B% %[ 000 ~ 0.64| 3.26 17.45| 100kN/m%E#B 2% 1.00[ 12.30 ~ 47.51 134.46|3m%#82 5| 40.00 ~ 47.51| 3.26 17.45
Zh st 1.00| 2.22 ~ 10.00 100.00| Zh st [0.64 ~ 10.00[ 3.00 16.05 Thst 1.00[ 500 ~ 1230 100.00f #h st | 500 ~ 40.00| 3.00 16.05
» 100kN/MZ#B% % 1.00/0.00 ~ 204 131.59|3mZx#BRB| - ~ - - -] 100kN/mM%#Z% % 1.00( 1252 ~ 38.38 131.59|3m%x#B2 % -~ - - -
zhs 1.00|2.04 ~ 9.83 100.00| Zh st 000 ~ 9.83| 2.80 14.98 Thst 1.00[ 500 ~ 1252 100.00f #h st | 500 ~ 38.38| 280 14.98
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/M%#28 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~
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